
Dati i vettori di R4

a =


1
0
2
4

 , b =


0
5
3
1

 , c =


1
0
0
2

 , d =


1
2
0
1

 ,

calcolare
dx3(a) , dx4(b) , dx1,3(a, c) , dx4,2(b, d) , dx1,1(a, c) , dx1,2(b, b) ,

dx1,2,3(a, b, d) , dx1,3,4(c, a, b) , dx1,2,3,4(a, b, c, d)

Data φ = dx1,4 + 5dx2,6, calcolare
φ(a, c) , φ(b, c)

Dati i vettori di R6

a =


1
0
2
4
0
1

 , b =


0
5
3
1
1
0

 , c =


1
0
0
2
1
1

 , d =


1
2
0
1
1
2

 ,

calcolare
dx1,3,6(a, b, d) , dx1,3,3(a, b, d) , dx6,3,1(a, b, d) , dx1,6,3(a, b, d) ,

dx1,3,6(b, a, d) , dx1,3,6(a, b, a) , dx6,3,1(b, a, d) , dx1,6,3(d, b, a) ,

dx2,5(a, c) , dx1,4(b, d) , dx4,5(a, d) , dx3,6(b, c) ,

dx2,5(a, c) + 3dx1,4(b, d)− 2dx4,5(a, d) + dx3,6(b, c)

Data φ = 3dx1,5 − 2dx2,6, calcolare

2φ(a, c)− φ(b, c) + φ(d, c) , φ(2a− b+ d, c)

e verificare che i valori coincidono.
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